2 ol AYUA?

]

AR
ol

TR

HPAAY 5 Holt 7+

@ @
ONC)

N
® o



2. 4017k 204cm? 9 BAAPAG] et o] BaAAPRE o] o)}
12cm 2, @Ol Aol= 2 cm YY7H?

e -



_ocm-

o

~

T-8cm---
(D+8)xD+2=0x®+2=0O(cm?)

—

3 52




S#o] Zol7} 717} 36em oF 68em A AAZHHO] AgUT &
HA2Eg o) g o] oo A Anteluzty

D 4em @ 5cm 3) 6cm @ T7em 3 8cem



5.

7Y27} 26 cm, =8|7F 72 cm €1 AA}
ol 2= 2 cm QIA] FoFA L.

Qe e



@® 24x16=+2 @ (24x8+2)x2
® (12x8+2) x4 @ (16x12+2)x2

® (24+2)x(16 +2)



10cm.

=

~

cm2



8. H=LEd Holrt142em® € W, @2 OEH % em 7} ¢ 1A
TOFA L.

6cm
\

""@7 [s5em
\,®_/




oS TGl A A2 e e Holrb 64em? d uf, AFFEE L
c 29 Jolg T L

- _--12cm- -2




10. E=99] dolE oA L.




